La multiplication posée (2)

253 @ 253 ’@/ 253 ’®/

X 4 X 4 @ X 4 ,@/

N = o
4x3=12 4x5=20;20+(1)=21 4x2-8;84+(2)=10
Je pose le 2 et Je pose le 1 et Jécris 10.

je retiens@. je retiens@.

La multiplication posée (2)

253 @ 253 ’@/ 253 ’®/

X 4 X 4 @ X 4 ,@/

, m) =) o
4x3=12 4x5=20-,20+@=21 4x2=8-,8+@=10
Je pose le 2 et Je pose le 1 et J'écris 10.

je retiens@. je retiens@.

La multiplication posée (2)

253 @ 253 ’@/ 253 ’®/

x_4 x4 () x4 L
4x3=12 4x5=20;20+®=21 4x2=8;8+®=10
Je pose le 2 et Je pose le 1 et Jécris 10.

je retiens@. je retiens@.

La multiplication posée (2)

253 @ 253 ’@/ 253 ’®/

X 4 X 4 @ X 4 ,@
4x3=12 4x5=20-,20+@=21 4x2=8-,8+@=1o
Je pose le 2 et Je pose le 1 et J'écris 10.
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